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Question 1- 4,2, 2, 3,6, 15,7

Hx0-5=2

LAX 1= 72

3= 3 A.40

2= G B.35
6X25< |5 30 CA45
=g .
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> Question 2- 2, 5, 16, 65, 2, 1958
A~

XA+ XOf
[6x4+ (=65
69 X5+ [= 3
I A.226
B. 126
30 \&326
D.434

E. None of these
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~3 5 T~ -3

A 149
B. 120
C.123
D.176
E. None of these
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Question 4- 16, 18, 24, 36, 56, 86, ?
L) J )y ) )

2 ¢ 12
L) ) )03)0 -
Tt 18 4o 4,

— A.110
B.210

30 128
D.228

E. None of these
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30 Question 5- What value should come in place of the

question mark ‘?’ in the following question?

Lo
(V6400) x 150% - 880727 =2

= §0¥3 1,
= A.60
- 00 B.70
N C-80
D. 100

E. None of these
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Question 6- What value should come in place of

COOO the question mark ‘?’ in the following question?
// (@ (@ N N (@
&\)\\@6 T 6- TR I H 97 g 12" o T 9T -1 74
AT ATRY?

24%x 25— 12 x50

=7
169 k—@ 23x5+15~ LAC300

I L’HOO 600 B.300
s : C. 600
— (0o 3 (30 D. 450

= _{% E. None of these
= Lo '
@’ e
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Question 7 What value should come in place of the
question mark ‘?’ in the following question?

sy 7- feafeiiRad v & vy fag 19" & T 9w = M
3:|'|_-|T%|||%Q7

T
06 - 55 L5x 11+ V784 =2

= J6-1214 29 A2
g B3
— Ry C.6
- 1 (=0 D.7

E. None of these
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Question 8 What value should come in place of the

question mark ‘?’ in the following question?

Iy 8- g v 3 Uy R{@ 19" 3 T YT FAT T4

AT ATRT?
\/1089 525 + 35

VZ1 X 3—8

= 815 kS A28
[0

- I P 30 B.6

o & €18

N D.3.8

E. None of these
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Question 9 What value should come in place of the
question mark ‘?’ in the following question?

97 9- TteIlad I 5 99 T 12" o T19 9 -7 |49 3
Iieu?
3 3

5832 — \)49 X V125 + 9= \1-484

18 ~IX54X =23 A.29

/&‘35+X:2£30 B. 19

C. 30

J‘ﬁ D.49
- _BE-None of these
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Question 10 What value should come 1n place of the
question mark ‘?’° 1n the following question?

I 10- FHlRad 99 1§ 95 =g '?' o T 9 =T qH
T ATRT?

20% of 3600 + 60% of 5400 =?

3600 T 20% + 5400 =hT 60% = ?

A.2160

_ 3%6 C.4260

O D. 4560
\ENone of these
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Question 11- The ratio of A and B 1n a mixture 1s 5 : 4. If 90 liters of

the mixture 1s taken out and replaced by the same amount of B then
the ratio of A and B becomes 5 : 7. Find the amount of A 1n original

mixture.
T 11- T 20T H A 3R B 3T 3TTUTT 5: 4 71 Al 297 7 90 THiex
fehret foram Sirar @ 31X B il 99 91 9 gfdeutiud ferar srar g dv A

I B T STUTT 5: 7 B STAT &1 HA 207§ A shl | 14 shifsril

30 A.50 Liter
B. 60 Liter
C. 200 Liter
D. 100 Liter

E. None of these
https://t.me/mathbytarunsirmepl



|

’ 0= 5,36

g 7

e e o s
=@ <

? f [= 3ol
@J: Oy + JoL
= 3/§30~}<jo /
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Question 12- The average cost price of two shirts 1s Rs. 800 and the
profit percent on these shirts are 10%and 20% respectively. If the
total selling price of these shirts 1s Rs.then find the cost price

of first shirt.
T 12- 31 TS AT & 367 Hed 800 T & N 3 I T ATH Hicrd
- TR 10% SR 20% B A ST ACHT Fe FoH T 1856 TR,
YAt 1S T 3T e T4 shiforIl

e

52\6} _ARs 640
30 B.Rs 440

C.Rs 500

D.Rs 870

E. None of these
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W\)\//\ﬂ\\- Question 13- The distance covered by a boat in 3 hour 48 minutes 1s
?6 4 O 7600 km in downstream. If the ratio of speed of stream and the speed
of boat in still water 15 2 : 3. Find the upstream speed of boat

TS 13- ek 779 g7 3 5i¢ 48 fime & a9 ) Tléaﬁ YT o 3Tt 7600

8
UQ//{)/%\A TorHT 21 e TEe STet | &y 3t 7T SR AT shi Tl =T U 2: 3 8. 71
Q7 ! €T o Tidehed TTid T shifsTa
Yoo
B A Feoo A.200 km/hr
< £ 30 B. 300 km/hr
= LYo |, €7400 km/hr
: D. 500 km/hr
R E. None of these
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The following table shows the number of boys and girls living in 5
different cities P, Q, R, Sand T

A TIRId dTfeTehT 5 STET-STAT U P, Q, R, S 3R T U T&+ a1 A<Sahi
3T ASTRAT ht T i el &
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Question 14- Find the total number of boys and girls in city Q, R and

S together.

T 14- TELQ, R AN S H TShl IR ASIHAT 3h! heT HE&AT Tl hi 5|
30

B. 1700
C.2700
D.7700

400
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Question 15- Find the ratio between the number of boys in P and

30

number of girls in T.
T 15- P H TTSehi ohl H&AT SN T H TSl ohl HTEAT o sfi=r U HTd

shifsto)

Lw@./”og N )
K B.2:3
/’-'— C.3:4

D.1:1

E. None of these
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Question 16- Number of boys in S 1s what percent of total number of

person(boys and girls) in P and S.
I 16- S T AShI ohl AT, P AR S H ARRAT (ASehT AR AS(hAT) hl
et AT T fehdT JTIeTd &7

GIRLS A.11.11%

%= 620
5= Yloo
!9 6 500 B.12.33%
3 - E733.33%
= 33 3’5’4/‘ IDRIRIRRYZ
— 600 E. None of these

300

400
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Question 17- If number of boys in T and Q decreased by 20% and
30% respectively then total strength of boys in same city 1s how

30 much percent more or less than the total number of girls in same city.
Ife T 3T Q H TTShi ohl TEAT H ShHIT: 20% 3T 30% hl hHT AT 8, T
3T IS H TTSh hl T3 TEAT 6T IS H TSR hl HEAT H Tehe FiceTd

37freR AT 7 B?

A.24.7%
B. 11.7%%
C.20.7%
D.17.7%

\_E-None of these
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Question 18- A boy takes a square shaped rod of area 49 cm? and

makes a semi-circle of radius r cm from this . Find the value of'r.

- 5 18- Ueh TASHT 49 CN° SFha &1 Teh IR BE oidT & N 308
3 A ToIS2T r Yt o7 Teh 3T SFTAT =) 1 3T HIF JTd ShitoIg)

| e %MJ A?L{WA 4.44 cm
rr _ H)(} ‘/B-/5f-44_<_3_l_11
2 Y 2\2 C.6.44 cm
Z :; ?il = W D.7.44 cm
= : h’: % J:EL E. None of these
= = S
}@61 F K‘igi

https://t.me/mathbytarunsirmepl @



Question 19- P2 —6p + 8 =0

g2-8q+15=0
30
A. p>q
B. p<q
C. p< q
D.p=q
. E—p—=q or relation cant be
established/daeT TMYd

EHAERIISIRCT]
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Question 20- P2 —5p -24 =0

g2—-3q-40=0
30
A. p>q
B. p<q
C. p< q
D.p=q
\E—p=q or relation cant be
established/dser TTUQ

EHAERIISIRCT]
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Question 21- A can do a work 1n 40 days and B can do the

same work 1n 20% less time taken by A. A and B start

working together, then find in how much time 60% of the

@ Q—jﬂ bo } total work will get completed

6 9= 21- A T & 1 40 Fert § o2 HehaT & 311 B, 36 &1 T A

B\ﬁ_ﬁz ST TTT T 20% hH THI H T ohdT &l A 3T B Teh 919 10
) = 60/ 60 e L 8, I T ShitSTd Toh et shH AT 60% Tohd= T/ |
° 90 BT ST A.15.66 days

0= ag _B710.66 dyas

T . % C. 24.55 days

™ = 32 fo.&6 f_% D.6.66 days
(% & — E. None of these
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30 Question 22- A invested some amount of money 1n a scheme
and B invested Rs. 100 more than the money invested by A in

the same scheme at the rate g per annum compounded
A.Rs 200 annually for 2 years. If the total compound Interest 1s Rs. 483,
B.Rs 250 then find the amount invested by A
C.Rs 400 T 22- A 3 Th AT H e TIRT AT A foham ST B 7 3¢t
D.Rs 450 FISHT H A ST el=T o6t 715 TRT | 100 T 37216 30% Ffe a9
E. None of #fése 1 SLH 2 N1 o (7T ATiNes &9 § SIS fohaT| e shed =rshdleg

SITST 483 T 8, Al A g1 1997 <Al 775 Uiy 3ra <hifs|
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